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QUESTION 1

What is the difference between permanent nodes and edge nodes? 

A. Permanent nodes cannot be stopped, whereas you can start and stop edge nodes. 

B. Permanent nodes are for the life of the cluster, whereas edge nodes are temporary for the duration of processing the
data Permanent nodes contain your Hadoop data, but edge nodes do not have Hadoop data. 

C. Permanent nodes contain your Hadoop data, but edge nodes do not have Hadoop data. 

D. Permanent nodes contain your Hadoop data, but edge nodes give you the "edge" in processing your data with more
processors. 

Correct Answer: B 

Reference: https://docs.oracle.com/en/cloud/paas/big-data-cloud/csbdi/using-oracle-big-data-cloudservice.pdf 

 

QUESTION 2

Given: A Kerberos principal is a unique identity to which Kerberos can assign tickets, and a realm is where the Kerberos
database is stored. 

What is the realm used by Big Data Cloud Service? 

A. bigdatacloudservice.oracle.com 

B. bdcs.oracle.com 

C. bdacoudservice.oracle.com 

D. bigdata.oracle.com 

Correct Answer: B 

 

QUESTION 3

What is the function of a SHUFFLE phase in the MAPREDUCE processing framework? 

A. This phase is to optimize resource utilization by moving mappers to the other nodes. 

B. This phase will move intermediate data from the mapper to the reducers. 

C. This phase provides fault tolerance by moving mappers from the failed nodes to running nodes. 

D. This phase is used to reduce the values associated with the intermediate keys. 

Correct Answer: B 

Reference: https://stackoverflow.com/questions/22141631/what-is-the-purpose-of-shuffling-and-sortingphase-in-the-
reducer-in-map-reduce 
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QUESTION 4

Which two are the supported SDKs to manage data in Oracle Big Data Manager? 

A. Scala 

B. HTML 

C. Ruby 

D. Python 

E. Java 

Correct Answer: DE 

Reference: https://docs.oracle.com/en/cloud/paas/big-data-cloud/cbdmg/manage-data-oracle-big-datamanager-
sdks.html 

 

QUESTION 5

You have easily and successfully created clusters with the Oracle Big Data Cloud wizard. You want to 

create a cluster that will be very specific to the needs of your business. 

How would you customize Oracle Big Data Cloud clusters during provisioning? 

A. by using Stack Manager 

B. by using Oracle Enterprise Manager 

C. by using Platform Service Manager UI 

D. by using a Bootstrap script 

Correct Answer: D 

Reference: https://docs.oracle.com/en/cloud/paas/big-data-compute-cloud/csspc/using-oracle-big-datacloud.pdf 
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